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1.
Which of the following would you expect to be part of a photochemical reaction?


a. water

b. ultraviolet light
c. acid


d. heat

2.
According to the data shown at right


altitude (ft)
temperature (oF)

there is a temperature inversion between

 5000

        38


__________ and __________ feet altitude.

 4000

        42









 3000

        46









 2000

        49









 1000

        48









   500

        45









       0

        46

3.
Photosynthesis adds _______ to and removes _______ from the atmosphere.


a. carbon monoxide (CO)
b. carbon dioxide (CO2)
c. oxygen (O2)


d. nitrogen (N2)

e. sulfur dioxide (SO2)
f. ozone (O3)

4.
The concentration of _____________________ in the atmosphere can vary from near 0 to as high as 3% or 4%.

5.
The combustion of coal would not produce any _______.


a. carbon dioxide     b. carbon monoxide     c. ozone     d. sulfur dioxide     e. water vapor

6.
The gases in group _______ are all greenhouse gases.  Four air pollutants are listed in group _______.  The four most abundant gases in the atmosphere are in group _______.

a. oxygen (O2), water vapor (H2O), nitrogen (N2), argon (Ar)


b. methane (CH4), nitrous oxide (N2O), carbon dioxide (CO2), chlorofluorocarbons 


c. sulfur dioxide (SO2), ozone (O3), nitric oxide (NO), carbon monoxide (CO)

7.
When air is cooled to the _________________________ the relative humidity increases to 100% and a cloud forms.

8.
If the force of gravity on the earth were to increase but the amount (mass) of air in the atmosphere remained the same, would atmospheric pressure at sea level  INCREASE  DECREASE  or remain the  SAME.

9.
If you were to carry an object from the earth to the moon, would the object’s mass  CHANGE  or remain the  SAME?  Would the object’s weight  CHANGE  or remain the  SAME?

10.
To determine the weight of an object you multiply the object’s mass by g, the gravitational acceleration (9.8 m/sec2 on the surface of the earth).  What three variables determine the value of the gravitational acceleration at the earth’s surface?  (you’ll need to read about Newton’s Law of Universal Gravitation to answer this question)
